PETERHOUSE

Problem (english version) - Problema (version en espaiiol)

Peter lives in a street where the house numbers are 1, 2, 3, etc.. The sum of the house numbers lower than the
number of the Peter's house is equal to the sum of the numbers of greater houses. The number of his house has N
digits.

Peter forgot his house number and he need our help with a program to find out what it is and at the same time
determine the number of houses that are on the street.

We can tell Peter what is your house number and the number of houses in the street?
Pedro vive en una calle en la cual los nUmeros de las casas son 1, 2, 3, etc. La suma de los niumeros de las casas
menores que el nimero de la casa de Pedro, es igual a la suma de los nimeros de las casas mayores. El nimero de

su casa posee N cifras.

Pedro olvidd el nimero de su casa y debe hacer un calculo para saber cuél es y al mismo tiempo determinar el
numero de casas que hay en la calle.

Podemos decirle a Pedro cual es el nimero de su casa y la cantidad de casas en la calle?

Input - Entrada

The input is one line with an integer N, 1 <= N <= 5, which indicates the number of digits that have the number of the
Peter's house.

La entrada es una linea con un entero N, 1<=N<=5, que indica la cantidad de digitos que tiene el nimero de la casa
de Pedro.

Output - Salida

As output your program must show a line with two integers, the first is the number of the Peter's house, and the
second is the number of houses in the street of Peter's house.

Como salida debe mostrarse una linea con 2 enteros, el primero es el nimero de la casa de Pedro, y el segundo la
cantidad de casas en la calle de la casa de Pedro.

Example - Ejemplo
Input - Entrada:

2

Output - Salida:

35 49
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